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Sample Questions

ARFEA ATHGE -
THIS QUESTION PAPER CANNOT BE TAKEN AWAY.

AFEFERE - V7EREEE - SRI2EERA TTREWEUNER -
DO NOT turn over this Question Paper without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.
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All answers should be written on the ANSWER SHEET.
FRER : T8 4 7y

Section A — each question carries 4 marks

D) Ex WL FREEH x* -3y =1 > K y IR REEE(E -
If x is a 2-digit positive integer and x* —3)” =1. Find the largest possible integral value of y.

2016 2016 2016 2016
Given [x] represent the largest integer less than x. Find the value of

7 14 21 8064
+ + oot —— .
{2016} [2016} [2016} {2016}

3)  DUMEFIR4sin75°—2c0s45° HYfH -

Express 4sin75°—2cos45°in surd form.

2) s&[x]ﬁ%%ﬁﬁéxs@%ﬁ@aw{ 7 H 14 H 21 }---{%}a@ﬁo

e 14x 2x .
4)  EHTFI 6 FER -9 » K x HYE -
) 4x 2x
If the determinant has a value equal to —9, find the value of x.
X

5)
6)
7)
8)
~ HESE ~

~ End of section A ~

AR AERER - Bt EERET R HEERM - WHECR R BEiT T8 SRt RS RSN -
BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.
ZEB T B S

Section B — each question carries 5 marks

9) i [x] B AR x MU AR - SRITHE Tx —3[x] = 4 WIFTA R 7 -

Given [x] represent the largest integer less than x, find the product of all solutions to 7x—3[x]=4.

10) BHAEI X +y° +2x 12y —4 =0 > F—ELRECHE A(5,2) W EABEFE A WIS B Al C> 3K ABx ACHIH -
In a rectangular coordinate system, there is a circle x”+ y* +2x—12y—4=0and a straight line.
If the straight line passes through 4(5,2) and intersects the circle and point B and C. Find the value of
ABx AC.

1) TR x B=ArEEEE H S EERTTHE x° —3x-28=0 (mod15) » 3K x I AME -
Given x is a 3-digit positive integer and x follows the congruence equation x> —3x—28=0 (mod15),
find the largest possible value of x.

100

> k+1 XL - o
12) X;((—l) (2k)2_1]wa

100

Find the value of Z((—l)k“ x#] .
P (2k)" -1

13)
14)
15)
16)
~ ZH5E ~
~ End of section B ~
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All answers should be written on the ANSWER SHEET.
HER & T 5y

Section C — each question carries 7 marks

17) Zp=l—ai > acll Fq=3-i2 Rz —4z+b=00R > EFbel - K abHJfH -
BAx+yi TAEREZE
If p=1-ai (aell ) ,g=3-i ,and p and ¢ are the solutions to the quadratic equation
2> —4z+b=0(bell ). Find the value of ab.

2016

18) 3% f(n)=5n"-10n +10n* =5n+1 > 3k z 1) BB R AL B

2016
Let f(n)=5n"-10n" +10n* —=5n+1, find the last two digits of >’ (7).

i=1
19)
20)

- 2B ~
~ End of Paper ~

AR AERER - Bt EERET R HEERM - WHECR R BEiT T8 SRt RS RSN -
BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



